


S1 : In 1945, America faced two powerful 

enemies in the world war.

S6 : This was the weapon that ended the 

second world war.

P : America found conventional weapons 

insufficient to crush them.

Q : These were Germany and Japan who 

posed strong opposition to America.

R : The result of this was the production of 

the atom bomb.

S : The government ordered the scientists to 

conduct research and produce a new 

deadly weapon.

The proper sequence 

should be:-

(a) QPSR

(b) PQRS

(c) QPRS

(d) PQSR

Ans :- a



A: It also gives rise to a feeling of 

animosity among the different sections of 

the society.

B: In a democratic system, frequent use of 

power is never desirable, be it on the part 

of government or the people.

C: Therefore, citizens should never resort 

to violent ways and means in democracy, 

though they have the right to oppose the 

government.

D: It destroys the stability and security in 

public life. 

proper sequence should 

be:-

(a) DBAC

(b) BDAC

(c) BDCA

(d) DACB

Ans :- b



S1 : Before we left Bareilly jail, a little incident took 

place which moved me then and is still fresh in my 

memory.

S6 : This spontaneous act of courtesy and the 

kindly thought that prompted; it touched me and I 

felt very grateful to him.

P: He told me the packet contained old German 

illustrated magazines.

Q: The Superintendent of Police of Bareilly, an 

Englishman, was present there, and as I got into the 

car, he handed to me, rather shyly, a packet.

R: I had never met him before, nor have I seen him 

since and I do not even know his name.

S: He said that he had heard that I was learning 

German and so, he had bought these magazines for 

me.

The proper 

sequence should 

be:-

(a)RQPS

(b) QPSR

(c) QPRS

(d) RQSP

Ans :- c



A: The peasant, the shoemaker, the 

sweeper and such other lower 

classes of India have much greater 

capacity for work and self-reliance 

than you.

B: Remember that the nation lives in 

the cottage.

C: They are producing the entire 

wealth of the land without a word of 

complaint.

D: This process of production is 

going through long ages. 

The proper 

sequence should 

be:-

(a)BDAC

(b) BDCA

(c) DCBA

(d) BACD

Ans :- d



A: The facts speak for themselves 

so, they need exposition only, not 

demonstration.

B: At the present moment, it is widely 

recognised that India holds the 

balance in the world-wide 

competition between rival ideologies.

C: It is not, of course, only in 

geographical sense that India is in a 

key position.

D: India’s key position simply needs 

pointing out. 

The proper sequence 

should be

(a)DACB

(b) CDAB

(c) BCDA

(d) BDAC

Ans:- c



A: He was so busy with them 

that he did not get time to eat.

B: Thousands of people came 

to him and asked different 

types of questions.

C: No one cared to see that he 

had his food or rest that night.

D:Swami Vivekanand once 

stayed in a small village. 

The proper sequence 

should be:-

(a)BCDA

(b) CBAD

(c) DBAC

(d) DBCA

Ans :- c



A. However, its importance is primarily 
for its location.
B. But unlike other rivers, it is not for 
shipping
C. Although not the longest river, the 
Rio Grande is the most important river in 
America 
D. America has several long river 
systems
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a)DABC
(b) DCBA
(c) ABCD
(d) DCAB

ANS (B) 



A. But a dove that happened to be sitting on a 
neighbouring tree saw the ant's danger and 
plucking off a leaf, let it drop into the water 
before him.
B. Just at that time, a fowler was spreading his 
net and was in the act of ensnaring the dove 
when the ant perceiving his object, bit his heel.
C.  An ant went to a fountain to quench his thirst 
and tumbling in, almost drowned
D. The ant mounting upon it was presently 
wafted safely ashore
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(a)ABCD 
(b) CBAD
(c) CADB
(d) DCAB

Ans :- c



It ignores the real victim,

P: of getting justice

Q: often compelling him/her

R: to find extralegal methods

(a) RQP

(b) RPQ

(c) PRQ

(d) QRP

Ans.(d)



Out-of-the-box statecraft

P: economic growth

Q: would bring dividends

R: in peace of mind, savings and

(a) RQP

(b) QRP

(c) PRQ

(d) PQR

Ans.(b)



For India, therefore,

P: a priority along with nuclear safety

Q: nuclear security is not a new objective,

R: but has always been

(a) RQP

(b) RPQ

(c) PRQ

(d) QRP

Ans.(d)



S1 :- A century ago, the cinema was just a mechanical toy.
S6 : - Finally, it has evolved as the century’s most potent and 
versatile art form.

P : Thus, it gained respectability and acceptance.
Q : It gradually came to be considered as an art form of the new era.
R : By the 1920s, even its worst critics had to take it seriously.

S : Later, it was viewed as an extension of photography.

The proper sequence should be

(a) PQRS (b) SQRP

(c) SPQR (d) QRSP

ANS :- D



S1 : Unhappiness and discontent spring not 

only from poverty.

S6 : We suffer from sickness of spirit and 

hence, we should discover our roots in the 

eternal.

P: Man is a strange creature, fundamentally 

different from other animals.

Q: If they are undeveloped and unsatisfied, he 

may have all the comforts of the wealth, but still 

feel that life is not worthwhile.

R: He has far horizons, invariable hopes, 

spiritual powers.

S: What is missing in our age is the soul, there 

is nothing wrong with the body.

The proper 

sequence should 

be :-

(a)PRQS

(b) SPRQ

(c) SPQR

(d) PRSQ

AND :- B 



S1 : Our house is high up on the Yorkshire coast 

and close to the sea.

S6 : Between the two, shifting backwards and 

forwards at certain seasons of the year, lies the 

most horrible quicksand on the shores of 

Yorkshire.

P: One is called the North spit and another the South.

Q: The sand hills here run down to the sea and end in 

two stretches of rock, sticking out opposite to each 

other.

R: This one leads through a dark plantation of fir-trees 

and brings you out between low cliffs to the loneliest 

and ugliest little bay on all our coasts.

S: There are beautiful walls all around us in every 

direction except one.

The proper 

sequence should 

be

(a)SQRP

(b) QSPR

(c) 

QPSR

(d) SRQP

ANS :- D 



A. Information Communication Technology 
tools have brought in changes along with 
means of communication. 
B. These changes have enabled man to 
communicate faster. 
C. Communication has not only become faster 
but easier too.
D. The result is a more relaxed life than ever 
before.

1) Dbca
2) Cdba
3) Abcd
4) Abdc

Ans :- c



A. It is also a rich source of news updates 
around the world .

B. Older people and children remain glued to it.
C. It has become a great entertainment for all. 
D. TV has become a powerful medium these 
days. 

(d) ACBD
(a) ABCD 
(c) BDCA
b) DBCA 

Ans :- b



A. "Buy sweet apples, or none at all", he instructed his servant.
B. A rich man sent his servant to an orchard to buy some apples.
C. The servant asked, "How am I to know that all of them are sweet if 
I taste just one 
D. The owner of the orchard said to the servent , “ all my apples are 
sweet try one”

a) BDAC 
b) ABCD
c) BADC
d) ACBD

ANS :- C



The fundamental cause of

P: modern world the stupid are cocksure

Q: the trouble is that in the

R: while the intelligent are full of doubt

(a) RPQ

(b) QRP

(c) QPR

(d) PRQ

Ans.(c)



In Tamil Nadu,

P: cows and bulls are worshipped and celebrated

Q: on Maattu Pongal,

R: and the finale is Jallikattu

(a) QRP

(b) QPR

(c) PRQ

(d) RPQ

Ans.(b)



Elections globally

P: dominated by numbers, percentages

Q: and tallies

R: can be dry affairs

(a) RQP

(b) PQR

(c) RPQ

(d) QRP

Ans.(c)




